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The diagram above shows the graph of
y = f{x) for the function

o X 3 . X X

fix)=30+ lOst + llsmz+20ws-5,
x € [0, 100]
a Show that

) = (t + M9 — 4922 — 711 + 31)

- 41 + 27

where t=tan% ©)
b Hence find the smallest exact multiple

of = for which the graph hasa

stationary point. 2

The function kf(x) is used to model an

electric pump which extracts L litres of
water at time x seconds from a flooded
mine shaft.

The maximum amount of water pumped
is 300 litres.

¢ Suggest a suitable value of k. ()
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